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OdsoddFx2E=AAY 2 oA - ofF A&7 BSH 4,550,000,0001 14 = 4,550,000
[= 3,640,000]
(= 455,000]
[~ 455,000]

400,000 300,000 100,000
[= 320,000]

401 A A H 5o )

(= 40,0001
[A] 40,000]

04 AN 400,000 300,000 100,000
OdTaAd+2zA o4 - o] 3 gy 400,000,000 %14] = 400,000
[= 320,000]
(= 40,000]
[A] 40,000]

43,200 43,200 0
FAHREA A (R F) (= 12,960]
[~ 30,240]

201 GuF-FH] 43,200 43,200 0




2 A

SR G (EA) - ARALS -

=)
ox
o

>
12

e
L
12 b

(= 12,9601
201 Luke-gH]
[A] 30,2401
01 AR H| 43,200 43,200 0
O1. 4Rk &1 43,200
- A B 6,00091600% «12Y = 43,200
(= 12,960]
[~] 30,240]
48,000 129,000 A81,000
of FAY A A Y (HF) (= 14,400]
[A] 33,6001
48,000 129,000 A81,000
206 A 1] [= 14,400]
[A] 33,600]
01 Aj&H] 48,000 129,000 A81,000
Qo] - A A< 300,00091 #160% = 48,000
(= 14,400]
[~ 33,6001
HThS o) A A A (B2 40,000 0 40,000




2k}
ARE
A A A A 29)
2 A S EA) - AR - B 33a
(= 25,000]
HpehF ol Al A 9 (H.2)
[A] 15,000]
40,000 0 40,000
307 W1zkel (= 25,000]
[A] 15,000]
02 WHFNEZ 40,000 0 40,000
OnpetEolAl A4 50,000,000 %80/100 = 40,000
(= 25,000]
[A] 15,000]
10,000 10,000 0
TR A Gl Aoy [= 3,000]
[A] 7,000]
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OAzdH] 75,600,000 %80/100 = 60,480
(= 22,6801
[~ 37,8001
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FrbeE AH oAl [= 27,540]
[A] 27,5401
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402 PR 0] A [= 27,540]
[A] 27,5401
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(= 20,5701
[~ 48,000]
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[+ 160,000]
206 A 4] [= 20,5701
[~ 48,000]

01 A& 228,570 314,000 A85,430
OFAEE Y7 228,570,000 14 = 228,570
[+ 160,000]
[= 20,570]
[A] 48,000]

402,787 603,667 A200,880
vtk 2 AR (3) [= 200,000]
[A] 202,787]

402,787 603,667 A200,880
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10,000 10,000 0
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[A] 7,000]
01 AEH] 10,000 10,000 0
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[= 3,000]
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AEA L7 (HZx) [A] 218,100]
257,340 196,000 61,340
402 R FAFR 0] A (= 39,240]
[A] 218,100]
01 WIZHAEHEZ 257,340 196,000 61,340
OA &2 3 v o -7+ 367,628,000 ¥70/100 = 257,340
(= 39,240]
[A] 218,100]
540,000 0 540,000
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01 YW7AERZ 540,000 0 540,000
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201 Guk-FH] 107,666 98,461 9,205
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O1. 4Rk &1 1,600
—oj Aotk F A 24 7] FH| 2,0001+800% = 1,600
03.&94%3 19,200
—OIJA =M (FH2075) 43 40,0009 19115 = 4,600
-1 JA =M (A H2075) %3] 40,0009) %19 %3659 = 14,600
O4. 9] 51| 660
“PAEL S gEE 130,000 #4™ = 520
—PA R FFY A} 35,0009 %4 = 140
O5. 3 %H]| 1,620
QA =G T T T2 5,000 %389 x12¢ = 1,620
06.9022 1,200
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—oIA = b A =] (7] SHA €] 3) 1,000,000 %14 = 1,000
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